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Telangana Board Class 10 General Science Part Il 2016 Question Paper
with Solutions

PART- A
Section-l 7Tx1=7
1. What happens if the forest area decreases rapidly?

Answer: If the forest area is decreased rapidly, this could affect the plants and
animals that live in the area. It causes depletion of the resources that we may
need for the future, like water or timber, and damages our current resources.

2. One student takes high caloric food. Another student takes less caloric food. But both are
affected with diseases. Name the diseases by which they are affected.

Answer: A student who eats less calorific food could get Kwashiorkor or some
deficiency of vitamins or proteins. Simultaneously, excess calories in children’s
diets could cause obesity, an increase in weight and diabetes.

3. Mention the two chemicals which you have used in an experiment to test the presence of
starch in the leaf.

Answer: The two chemicals that are used in an experiment to test the presence
of starch in the leaf are methylated spirit and iodine solution.

4. We can't expect the world without sparrows. So how should be our concern towards their
conservation?

Answer: Sparrows eat off locusts, so in a world where sparrows are less, you
can expect more locusts (as happened in China post-1958). Chemical pesticides
are also said to be a reason for the depletion of sparrows. We have to think of
some biological methods to save the sparrows.

5. What happens if there is no mucus in the Oesophagus?
Answer: Mucus lubricates and protects the oesophageal walls from damage,
while allowing the food bolus to slide down easily. So, without the mucus the walls
will have no protection and the food will also not slide down that easily.
6. Write two activities which you are performing to save the electricity.
Answer: Here are the two activities that you can perform to save electricity:
(a) Switch off the lights and fans when not in use

(b) Insulate your home and also use the refrigerators, water heaters and
air conditioners with care
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7. Write the name of the nerve given in the diagram and write its function.

Section-ll

Answer: These are afferent nerves also known as the sensory nerves or sensory
neurons. They are called the stimulus detectors as they carry the messages
towards the central nervous system from the nerve endings on the muscles of the
various sense organs, which can sense the change in the surroundings.

6x2=12

8. Where are the valves located in the human heart ? Write their names.

Answer: The openings between atria and ventricles are guarded by valves. The
valve located on the right Auriculo-ventricular septum between right atrium and
right ventricle is referred to as “Tricuspid Valve.” Additionally, the valve found on
the left Auriculo-ventricular septum between left atrium and left ventricle is the
Bicuscid valve or Mitral valve. Meanwhile, the valves at the region of Pulmonary

aorta are called the “Pulmonary valves and the valves at the region of the
systemic aorta are called systemic valves.

9. How will we get the desired useful traits with the help of two selected traits by using

grafting method?

Answer:In this, the cutting from some other plant is attached to the stem
of the plant rooted in the ground. The tissues of the graft become
integrated with the tissues of the rooted plant and develop as a single plant
over time. Breeders select two parents with useful traits to reproduce or
yield an offspring with those desired traits. Using grafting method, the
tissues of two plants are attached and allowed to grow, leading to a
production of a variety with both characteristics.

10. Draw the labelled diagram of Embryo-sac.

Answer:
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1. What questions will you ask a palaeontologist about fossils?

Answer: These are some questions to ask a palaeontologist about fossils:
What is a fossil?

How is a fossil formed?

Why are fossils essential for the study of evolution?
What is the information contained in a rock stratum?

cooow

12. Write two suggestions 'to create awareness on groundwater conservation.
Answer: Given here are some suggestions to create awareness on groundwater
conservation:

1. Prevent water sources from getting polluted

2. Rain water harvesting helps to conserve water

3. Fix all the leakages so that water is not wasted

4. Spread the information via social media and pamphlets

13. Observe the pyramid of numbers which is given below and answer the questions.
— Tertiary Consﬁmers

— Becondary Consumers

/ )( Primary Consumers

/ %—\\ Producers

a. As per the number of organisms in the tropic level, which group of organisms are more in
number and which are less?

b. What happens if secondary consumers disappear?
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Answer: (a) Going by the number of organisms in the tropic level, there are more number
of organisms at the producer level, while tertiary consumers will have less number of
organisms.

(b) If the secondary consumers disappear then the number of primary consumers will
increase, as there will be no secondary consumers to feed on them. Now, as there will be
no food for tertiary consumers they will also decrease, thus disturbing the food chain.

Section-lli 4x4=16

14. Explain the stages of mitosis with the help of diagrams. Explain the changes that take place at
prophase.

Answer: Mitosis is a process of asexual reproduction observed in unicellular organisms.
Read on to explore what is mitosis, and the different stages of mitosis. Prophase is the
first phase in mitosis and it is a process that separates the duplicated genetic material
carried in the nucleus of a parent cell into two identical daughter cells.

Or
Explain the sex determination in human beings with the help of a flow chart.

Answer: A sex-determination is the biological system that determines the development of
sexual characteristics in an organism.

15. Explain the different types of adaptations in plants with suitable examples.

Answer: There are various types of plants in different regions and the plants have
adapted themselves to the climatic and other conditions of the region. Learn more about
the adaptations of plants with suitable examples here.

Or
What are the different stages in urine formation? Explain what happens in those stages.

Answer: Waste excreted from the human body is mainly in the form of urine. Our kidneys
play a major role in the process of excretion. Constituents of normal human urine include
95 percent water and 5 percent solid wastes. It is produced in the nephron, which is the
structural and functional unit of the kidney. Urine formation in our body is mainly carried
out in three phases namely

1. Glomerular filtration

2. Reabsorption

3. Secretion

Mechanism of Urine Formation
The mechanism of urine formation involves the following steps:
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Glomerular Filtration

Glomerular filtration occurs in the glomerulus where blood is filtered. This process occurs
across the three layers- epithelium of Bowman'’s capsule, endothelium of glomerular
blood vessels, and a membrane between these two layers.

Blood is filtered in such a way that all the constituents of the plasma reach the Bowman’s
capsule, except proteins. Therefore, this process is known as ultrafiltration.

Reabsorption

About 99% of the filtrate obtained is reabsorbed by the renal tubules. This is known as
reabsorption and is achieved by active and passive transport.

Secretion

The next step in urine formation is the tubular secretion. Here, tubular cells secrete
substances like hydrogen ion, potassium ion, etc into the filtrate. By this process, the
ionic, acid-base and the balance of other body fluids are maintained. The secreted ions
combine with the filtrate and form urine. The urine passes out of the nephron tubule into a
collecting duct.

Urine

The urine produced is 95% water and 5% nitrogenous wastes. Wastes such as urea,
ammonia, creatinine are excreted in the urine. Apart from these, the potassium, sodium
and calcium ions are also excreted.

16. Write the procedure involved in the acid and leaf experiment to understand the concept "how the
stomach gets protected from its own acid secretions". Compare the observations with the changes
that take place in the human digestive system.

Or

Answer: Take two similar green leaves and apply petroleum jelly or Vaseline or grease
on one leaf, while leaving the other as it is. Now, add some two to three drops of weak
acid to both the leaves and observe them after some 30 minutes. Observe which leaf was
affected by the acid. What are the changes that you observed on both the leaves? What
saved the other leaf from the effect of acid? Mucus secreted by cells present in the walls
of the stomach form a thin lining on the walls and this counters the action on the stomach.
Now, the function of the petroleum jelly can be compared to that of the mucus lining of the
stomach wall. This proves that the stomach gets protected from its own acid secretions.

Explain the procedure you have adopted in your school to prove that heat is liberated during
respiration. What result we will get, if you perform this experiment with dry seeds ?

Answer: Given here is the procedure to prove that heat is liberated during respiration.
Aim: Prove that heat is evolved during respiration

Experiment: Place a thermometer in two thermos flasks consisting of 200 seeds that are
soaked in water for 24hrs. Now, divide these seeds into two flasks. Flask A will have the
live germinating seed, while Flask B will contain the seeds (live germinating) boiled and
washed with formalin/carbolic acid.

Observation: After a few hours, the thermometer kept in Flask A shows a rise in
temperature, while that in Flask B does not show any rise in temperature.

Result: This rise in temperature indicates that heat is given out by germinating seeds.
Thus, this experiment proves that heat is evolved during respiration.
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Meanwhile, it is seen that water is required for the seeds to perform respiration, so if dry
seeds are used then there will be no action. It will not release carbon dioxide or heat.

17. Analyse the following information and answer the questions.

Alkaloid Part of the plant | Uses

Quinine Bark Anti-malarial drug

Nicotine Leaves Insecticide

Morphine Fruits Painkiller, sedative

Caffeine Seeds Central Nervous System stimulant
Pyrethroids Flowers Insecticides

Scopolamine | Fruits, Flowers | Sedatives

(i) Which parts of the plants are used as alkaloids?

(ii) What are the alkaloids which are used to control the diseases that occur in plants?

(iii) Name the parts of the plant from which we get alkaloids used as sedative.
(iv) Name the alkaloid which is used to prevent malaria.

Answer: (i) The bark, leaves, fruits, seeds and flowers of a plant are all sources of alkaloids
(i) Nicotine and Pyrethroids are the alkaloids used to control the diseases that occur in

plants

(iii) The parts of the plants from which alkaloids that are used as sedatives as obtained

from fruits and flowers of the plants.
(iv) Quinine is the alkaloid that is used to prevent malaria

Or
Vitamins Resources Deficiency symptoms
Thiamine Cereals, oil seeds, vegetables, milk, | Vomiting, fits, loss of appetite,
meat, fish, eggs difficulty in breathing,
paralysis.
Ascorbic Green leafy vegetables, Citrus fruits. | Delay in healing wounds,
Acid Sprouts, carrots fractures of bones.
Retinol Leafy vegetables, carrot, tomato; Night blindness,
pumpkin, papaya, mango, meat, Xeropthalmia, Cornea failure,
fish, egg, liver, milk, cod liver oil, scaly skin.
Shark liver oil.
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Calciferol Liver, egg, cod liver oil, Shark liver Improper formation of bones,
oil knock-knees, swollen wrists,
delayed dentition, weak bones.
Tocoferol Fruits, vegetables, sprouts, Sterility in males, abortions in
sunflower oil females.

Phylloquinone | Green leafy vegetables, milk, meat, | Delay in blood clotting, over-

eggs bleeding .

(i) Which vitamin deficiency is related to the bones?
(ii) Which vitamins can we get by eating fruits?
(iii) Which vitamin deficiency causes paralysis? To prevent it, what type of food we have

to eat?

(iv) To avoid vitamin deficiency diseases, what type of food we have to eat?

Answer: (i) Deficiency of the vitamins calciferol and ascorbic acid cause diseases
related to the bone

(if) The vitamins we can get by eating fruits are ascorbic acid, retinol and tocoferol.
(iii) Paralysis is caused by the deficiency of vitamin thiamine. To prevent it we have
to eat cereals, oil seeds, vegetables, milk, meat, fish and eggs, which are a good
source of thiamine.

(iv) To avoid vitamin deficiency diseases, we have to eat vitamin rich food products
such as fruits, vegetables, cereals, fish, eggs, oil, sprouts, meat, green leafy
vegetables, milk and so on.

PART B

1. lodine test is used to confirm the presence of

aoow

Fats

Proteins
Vitamins
Carbohydrates

Answer : (d) Carbohydrates

2. In plants, the fusion of male gamete with secondary nucleus results in

apow

w
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Embryo-sac
Endosperm
Cotyledons
Spores

Answer: (b) Endosperm

. Example for the reflexes in stomach is
Peristaltic movement.
Assimilation
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Vomiting
Digestion

Q6

Answer: (c) Vomiting

4. Name the body part which have division-less cells:
(a) Brain
(b) Lungs
(c) Kidney
(d) Stomach

Answer: (a) Brain

. The diseases caused by using mosquito repellents are
blood related diseases

fits

bronchial diseases

kidney related diseases

apooeo

Answer: (c) bronchial diseases

. In the plants, following is responsible for transport of water
Xylem

Epithelium

Phloem

Columnal epithelium

apTe o

Answer: (a) Xylem

. The hormone released during hunger is
Adrenalin

Thyroxin

Leptin

Ghrelin

ap TN

Answer: (d) Ghrelin

8. The solution used to identify the presence of Oxygen in Anaerobic respiration experiment is
a. Diazene green

b. Potassium hydroxide

c. Betadin

d. The rod containing Sulphur

Answer: (b) Potassium hydroxide

9. This experiment is conducted to prove
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Root pressure
Photosynthesis
Respiration
Transpiration

Answer: (d) Transpiration

Name the valve indicated in the picture.

Bicuspid valve
Pyloric valve
Villi

Tricuspid valve

Answer: (b) Pyloric valve
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